Additional Geometry Questions
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X. Yand Z are points on a circle
with centre C.
|£3XZ) = 25°,

& Find |2XZN]
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The quadsilateral ABDE has diagonals [4D)] and [BE] intersecting at C.
Cis the midpoint of both [4D] and [BE].

E D

@ 4 Prove thatA ECD is congruent to 2 ACB.

@) 4 Hence, prove that ABDE is a pasallclogram.
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In the triangle ABC. [DE] s parallel to [CB], [4D| = 4cm. 4C) = 14 cm
and |4E)

Sem.
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4. B. Cand D are points on the circle as shown.
|£4BD|= 37°and |£4DB|= 53°.

@ % Explain why [BD]
is a diameter of the circle.
@) 4 Giventhat |ZBD( = 46°,

find |£CBD|
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PQR s a right angled triangle.

Tis the midpoint of [PR].

Aline is drawn from T'to meet [OR] at S,
such that |RTS| is a right angle.

[ST] = 6.and SR = 10.

@® & FndRT)
@) & Provethat [ZOPR| = |£TSR|.

Gi)  # Find|PQ.
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abed is a parallelogram with [dc]
produced to e and | Zbce| = 36° as
shown.

Find () |Zabd.

G) & |Zbad.

36°
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() Each of the three figures labelled 4, B and C'shown below is the image of the
figure X under a transformation. For cach of A, B and C, state what the
transformation is (franslation, central symmetry., axial symmetry or rofation)
and in the case of a rotation, state the angle.

A AP

c
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‘The triangle abe is an isosceles triangle. with [ab| = [ac| and | Zbed| =|ZcdB| = 90°.
The lines ec and bd intersect at £

@ 4 Prove | Zdbd| =|Zect|

@ & Povelef| = Ll
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a.b.c. dand e are points ona circle
and | Zbde| = 108°

Find @ & |Zbad.
) & [Zbed.

giving a reason for your answer in each case.
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In the triangle abc, de is parallel to cb.
lad| = 6. dc| =3 and |de| = 7.

4 Find|chl.
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baand bd are tangents to the circle
of centre c

[bc] intersects the chord [ad] at the
point e

@ 4 Provethat Aabeis
congruent to A dbe

@) 4 Hence, prove that [bc]

‘bisects the chord [ad].
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ab is parallel to de, a »

ac bisects Zbad , 35°) ar
dc bisects Zade.
be is perpendicular to ab and c
|£bac| = 35°.

&

@ Find | Zade| l S

[y

@) Find | Zacd|

&

Gii) Prove that the triangles adc, abe and cde are equiangular.

&

&) Given that |ab| = 5 and [be| = 3.5, write de| - [ec| in the formm - n,

where m, n & N.
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[ba] is the diameter of the circle, cis
the centre of the circle and [ba| = ad].

Find () & | Zadb|.,

@) & | Zdac|
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Each of the three figures labelled 4, B and C shown below in the box on the.
right is the image of the figure shown in the box on the lefi under a
transformation. For each of A, B and C. state what the transformation is
(translation. central symmetry, axial symmetry or rofation) and in the case of a

Pl
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In the diagram [MN] is parallel to [PQ] .

| £POQ| =43° and | LOQP | = 70"
Find
@) & thevalueofx

() the value ofy.

43°




image2.png
In the diagram 4B, = |4D| and [BC| = |DC).
AC intersects BD at E.
@ & Prove | ZBAC| = |4DAC|.

() & ProveEisthemidpointof (D] ©
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A and B are points on a circle
with centre C.
|£BCA) = 44°.

& Find |£BAC,
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XIZis asight angled
triangle with | ZX¥Z] = 90°.
Wis a point on [AZ],
such that ITV'is
‘perpendicular to XZ.

b

by 3a W a

@ 4 Prove AXIZ and AWTZase cquiangular.

@) £ Giventhat|IFZ]=acm X =3acmand [¥Z]= 16 cm. find a.
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(i)

The triangle ABC'is isosceles with [4C] = [BC).
The triangle ADC is also isosceles with [4D] = D]
| 24CB| =40°

& Find| ZDAB| and | ZADB|

LN\,
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ABis parallel to CD. BC and AD intersect at the point £.
@ & Prove that the triangles ABE and CDE are cquiangular.

[4B| = 12 cm. [BE] =8 cmand [CD| = 7 em.

@) & Find|EC] correct to one decimal place.




